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TRBIF2A RRE

BT () £ HEH| 5 S B BT ()% ek 5 =z i BT (X) £ HEHR| B X it BT (X) £ e 5 = B BT (X) £ HEHR| 5B X it
ZHET 47 57 59 116| 7K S HET 198 253 246 499| R BT 1 X 299 359 379 738| = HHET 72 100 110 210|REH 87 117 127 244
T 23 33 36 69|iRE SHT 264 350 331 681|RLET2 X 319 400 392 792 | SEBAET 59 69 66 135| R SHET 50 65 74 139
A 38 42 47 89( b MET 95 136 163 299| RET3X 52 43 54 97 | ¥8 MUY 34 51 56 107| 75 R ET 37 65 60 125
TEHET 87 97 99 196 | {25k ET 23 43 33 76|t %= HHAT 691 1,016 1,024 2,040|fE1EFHET 23 31 48 79|{H R 2 BT 15 23 26 49
FaERHET 89 106 118 224|FAAT 32 36 50 86| T AHT 75 124 11 2358 T 90 105 105 210| £ B EET 18 20 23 43
REHr 55 54 56 10| & SHT 52 69 66 135 [ Fr#ET 88 123 129 252 R ATET 262 345 367 712| & HET 39 49 59 108
B FEET 300 388 389 777|142 ZET 241 303 278 581|#H—TH 82 101 116 217|487 63 73 68 141 | ZH{RET 63 83 80 163
J\BTHET 14 15 17 32|m Y =HT 97 140 144 284|#H =T H 101 110 138 248 (e BLHT 118 128 118 246|Z HET 33 63 61 124
P9 B BT 20 25 39 64 (7K ZHET 78 97 102 199|#E=TH 97 90 131 221 |f&EALET 529 645 586 1,231|%BHET 68 81 100 181
A RET 26 33 40 73|t ERHET 16 26 22 48|EHMT B 167 210 243 453| B4 TET 69 89 106 195| &K tE B BT 20 29 49 78
R—&HT 30 31 32 63[AJIFRE 408 481 401 882|EWATH 82 108 100 208 [FriEA X 163 182 201 383|[@ &HT 37 54 63 17
R_EHE 88 96 97 193|128 ®E—TH 198 258 260 518| K FEX 56 54 9 63| RAEIMX 128 161 153 314| B ARHET 49 72 70 142
H=RAET 24 23 29 52|f2 AKX 78 112 112 224|5TR—THE 223 287 333 620| B MR 158 206 209 415|lLEE—TH 67 80 95 175
BI\YERER 479 545 602 1,147(6) X 5+ 1,780| 2,304| 2208 4512(HK=TH 211 259 279 538| 1B METR X 75 102 99 201|lLEBZ=TH 91 116 124 240
[iPANES =S 115 114 145 259| FHAEFET 88 125 121 246|FX=TH 198 258 273 531| =Sy 184 213 221 43| ILEB=TH 98 131 127 258
[:IAVES =S 325 399 407 806 | ¢ = 40 ErHT 66 94 90 184(#H AT B 182 292 277 569| FEE—TH 62 82 83 165(ILBEMTHE 107 120 128 248
I\ R ERHET 218 209 219 428|/]s LT 21 34 30 64| —TH 150 172 188 360(FEB=TH 142 164 207 371|ILBAERETH 89 131 132 263
$rEET 500 640 682|  1,322| LAaERET 64 82 76 158 =T H 238 332 345 677|< EHT 100 145 112 257(ILEBAATHE 112 151 158 309
FRET 21 18 19 37| FRAH EFET 71 89 86 175| 4t AR AT 100 110 129 239|FDE—TH 28 42 41 83| LUEHX 5t 1,080( 1,450 1,556 3,006
=odi 12 16 14 30(BFMX § 310 424 403 827|dtZEAE —TH 133 186 219 405|KDEZTH 114 192 175 367| FHREER—TH 151 177 190 367
ERAITX 19 18 23 41|/ ILET 93 120 139 259t ZEBEB =TH 190 250 316 566|KDIE=TH 74 108 106 214| FRER-TH 97 130 107 237
SRETHT 19 24 35 59 [FAAHT 146 184 198 382| BiEkX 5t 3,734| 4884| 5185 10069|chEAMIX =t 2547| 3233| 3237 6470|FRERE=TH 151 175 184 359
HERT 104 113 101 214| % RAAT 204 244 272 516 |fESLHET 217 262 293 555 | FAHT 204 269 257 526| FREFRIETHE 168 208 204 412
FHAHET 446 589 583|  1,172|dL BT 71 87 109 196 (B4R )IIX 105 139 145 284( = O#T 54 75 79 154| FRERATH 140 177 165 342
R 107 95 134 229 | BT 3RFE SET 15 25 19 44(FRFE)ITX 53 67 80 147|% FHT 95 120 126 246| FHREFERATH 168 212 228 440
A2 193 242 250 492K FLHET 25 42 37 T9[EHIIX 54 78 84 162| AEHET 213 309 324 633| FHREFE  —TH 130 169 156 325
LRI 63 46 76 122|dLERMX 73 63 85 148 (481157 HT 106 150 152 302|445 ALET 34 57 56 3| FREB -_TH 141 179 179 358
R4 190 271 264 535| % ME#H—TH 141 184 184 368 | #1 HFTHET 22 33 40 73| Z ALET 82 109 120 29| FHREB=TH 138 183 194 377
Pl i:b <1~ 360 441 465 906 | EREMIX 5t 768 949| 1,043 1,992| HIFHHX 5 557 729 794 1,523 | &Il U ET 148 163 178 341 [ FREBDT B 101 116 137 253
LR 200 237 212 449 | = {RET 119 150 180 330( =K ET 525 706 657 1,363 | & R ET 55 86 93 179| FREBRTH 135 152 147 299
AEXBE-TH 152 167 179 346| LAIRER 9 9 14 23| &= sk T 491 624 572  1,196|EH AT 22 34 40 14| FREBBATH 146 178 188 366
HEE2—TH 85 113 101 214| B 11 15 16 31 ({2 HEET 46 69 71 140|#FF—THE 88 113 110 223| FREFBELTH 173 212 248 460
EE-TH 105 105 136 241 |BHE 10 13 12 25| = K HTHT 75 90 108 198|A#FF=THE 54 73 70 143| FREAE/N\TH 119 127 149 276
EE=TH 102 120 137 257 [iE{LET 38 51 62 113 R FT{RET 39 56 51 107|AFF=TE 71 95 101 196 FREB—TE 107 144 150 294
Am—TH 106 117 124 241|-CBRET 29 34 31 65|/\FH # BT 52 69 73 142|#FZFWTHE 98 128 121 29| FREM_TH 148 195 191 386
HH=TH 124 151 193 344|/\1| BT 41 48 64 112|/\EHAT 129 162 183 345|#AFIFRTH 70 98 92 190| FHREFHIX 5t | 2213| 2734| 2817 5,551
Hi5—TH 71 88 90 178(_E/M)IEBT 43 46 64 110| —1ZHT 68 74 74 148|#FFATH 68 74 84 158 | +aET 115 129 141 270
EBE-TH 136 192 161 353 | R ARET 32 38 50 88| 2 ERHET 164 196 225 421|#K—TH 98 138 130 268 |+ ET 104 111 117 228
#E—TH 138 138 143 281| E{RHTET 104 146 141 287|REXRTR 389 523 499 1,022|#KE—TH 61 74 77 151 | FaaHET 100 125 121 246
ZXEZ-TH 103 136 139 275| B4R 92 116 112 228|hEK X 206 259 246 505(MPHIX 5t 1515 2,015 2058 4073|F@E#H—TH 106 129 123 252
KIE—TH 152 163 197 360| = [RET 66 97 86 183|#AE R 111 138 136 274|185 THT 429 553 501 1,054|F@_T B 77 84 89 173
KRKIE=TH 89 99 92 191| SRBX 5 594 763 832 1,595| —1F# X 216 278 241 519 | H[EET 139 181 175 356| =T H 66 79 85 164
#H—TH 63 73 71 144 = H. BT 153 212 233 445|HSVIESE—TH 75 95 101 196| 4B FHT 338 429 387 816|35iREFET 59 77 73 150
B35 -TH 65 70 76 146 | K 7k BT 86 126 124 250 HSVESE=TH 126 153 161 314|HEhHET 365 550 507  1,057|FEREFET 104 121 108 229
B5%5=TH 25 35 35 702X 123 154 184 338|HTVIEHE=TH 78 96 106 202| BB 5t 1,271| 1,713| 1,570| 3,283|FEEREAT 82 91 99 190
BEX—TH 138 176 198 374|FHE—TH 130 92 146 238|H SV M T B 130 172 157 329 BmERHE—TH 66 80 79 159
BHR=TH 21 11 17 28|FHAR_TH 67 77 81 158| /BRI T E 0 0 0 0 EERX 85 80 98 178
BRAETH 102 112 145 257 KKFX 84 116 120 236(/\E#H R 85 119 124 243 NEEHMX 5t 964| 1,106 1,133 2,239
BXATH 64 73 85 158 |[FFHILX 126 185 169 354|NBHBX 5t 3005 3879 3785 7,664
BXtTHE 11 128 145 273| M FHHF X 58 73 86 159 NG 27,993| 35414| 36,449| 71,863
BRINTE 135 177 189 366 | # FAEMX 54 73 59 132
BEXATH 1 1 4 5|F HmX 205 262 288 550
B2X+TH 21 22 16 3B[—AMIX F 1,086 1,370| 1,490 2860
#HAR—TH 21 23 24 47
HAZTH 99 144 144 288
HAR=TH 128 210 208 418
MAFEMX 5t 6,569 7,861| 8,338 16,199
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TRBIF2A RRE
BT () £ HEH| 5 S B BT ()% ek 5 = i BT (X) £ HEHR| B X it BT (X) £ e 5 S B BT (X) £ HEHR| 5B ES it

EINE:k 34 37 42 79|/ \WEET 143 173 205 3783 R ET 125 166 173 339 NET H 45 54 75 129 | [ BAET 43 59 64 123
=)IIFgRT R 149 193 218 41| ==HT 52 76 72 148 |FE iR R ET 231 239 280 519 [(AIRETLE 46 48 53 101 |BAAEFET 25 35 37 72
EJN L) 33 45 50 95| |LIET 213 273 308 581|&AFHET 285 422 428 850|;A] N ET 12 [E 104 127 147 274|773— LB 31 48 41 89
ZE)IIhETR 121 145 161 306| 1 B HT 50 70 73 143|B3%—TH 120 159 150 309[(AINETEYDE 53 65 67 132|;A & BT 59 76 86 162
EJNEd i) 31 36 43 79 (R 8 ILET 51 78 74 152 38 & HET 39 62 59 121 ;AT NET S LA R 54 68 65 133| & [RAT 47 45 44 89
EJN B 41 4 44 85| — /=HIX &t 509 670 732 1,402| @A ET 38 68 60 128 ;AT NET O E B 15 24 23 47| T EFET 42 7 73 144
EJNE ) 47 50 49 99 [#Rk S HT 98 91 97 188 | 2 HET 84 125 141 266 [AINET P EE 3 3 5 8| L EFHT 102 154 161 315
E)IIFETR 38 36 47 83| #BRERHET 88 114 124 238|Fi i AT 226 312 322 634 |;R] ETEL i 6 4 6 10| = 3R HET 28 39 43 82
Ik AHETEE 51 64 54 18|88k ABT—TH 33 40 44 84(BAXMTH 219 295 299 594 ;I NET AR 20 23 39 62| FTHE 20 19 28 47
FE)IIKAETER 28 26 34 60|E5RART—TH 32 32 43 T5(BBX=TH 107 125 133 258 |;RIETIR £ 8 6 9 15| EHE 21 27 28 55
EJNE i) 34 26 47 T3|ESRART=TH 39 54 73 127|505 3 HT 189 269 284 553 | NETR 2 16 19 18 37| B =BT 56 69 81 150
EISHR 149 183 218 401 |E5RABTM T B 197 238 256 494| B SHT 168 233 241 474 AINBT £/ 6 5 3 8|5l = AT 14 21 19 40
%I #=ERT G 48 42 56 98 #akE A ET 161 179 203 32| RE—TH 89 142 138 280 | NET T 7 4 3 1 EZ 3 45 49 40 89
EINE:ES: 68 97 94 191 B8R FIRET 102 110 121 231|BRE-TH 40 52 52 104|AINET N E 21 20 19 39| #FEKET 25 26 35 61
EJNP:E) 88 94 115 209 |#8k - RHAT 31 33 38 71| ZAERET 106 152 151 303[5TUAMEIE 5t 401 469 530 999 | = HET 13 15 19 34
E)IEATR 104 131 129 260|852k T 5RHAT 26 31 36 67| BAEFHTHT 79 95 100 195| T &H% 69 89 92 181| Z HELHT 15 1 1 22
EJNEN:IFi) 35 38 49 87|88k B 34 47 42 89| &8 A EHET 100 118 109 227| L EH 98 92 110 202| =Y #AHET 4 4 3 7
EJIEIN:IES 85 74 90 164 | B8R &N=F BT 169 200 225 425 = FHET 330 411 416 827 K% DI 54 74 69 143 | B3R T 3 3 1 4
)11 F0;RETEE 194 268 272 540 | &8k BT 80 93 118 211 | FrEB AE AT 34 40 37 1R 21 29 33 [(ALZES:) 7 5 7 12
EJNEakaE 256 266 311 577 [#83RK P ET 31 34 40 74| MHIX 5t 2609 3485 3573 7,058/ KFIE 9 1 8 9| R+ &HE 0 0 0 0
=X 5t 1,634| 1,892| 2123| 4,015(#&EKEfAT 201 241 243 484 A R AT 178 254 276 530 |#A:R 34 24 35 59|40/ BT 2 2 0 2
REAT 313 404| 448 852|Ek K E FaHT 125 194 190 384 CIAT 142 182 213 395|h & 37 46 46 92 |5t T 0 0 0 0
FHRHT 293 338 352 690 (#5RKFET—TH 8 8 11 19| KA ET 77 99 95 194| T K& 21 29 37 66 |48;E AT 22 27 43 70
HEET 41 58 58 116|#8RKFET=TH 66 84 94 178 |BH:L& SHT 23 27 34 61| LARE 23 25 24 49| 2 HKAT 41 49 59 108
RIEAT 52 83 72 155|#8R/K FET T B 32 35 34 69|7THT 75 113 122 235 KiE% 11 12 13 25| TEAHET 61 80 91 171
FEKSEET 147 211 212 423|852k A HHET 31 44 44 88|/ ERET 42 60 7 131|th=E 43 40 45 85| L EHAHET 40 53 59 112
e S HT 289 376 385 761 [ESRIX 5t 1,584 1902| 2076| 3978|REFHT 58 75 72 147| SHSMIE 5t 420 461 512 973 |7 {L RET 31 43 45 88
Fepiulig 70 93 96 189| A #5HT 240 320 345 665 |t R ET 58 60 79 139 =VEEHHET 55 72 99 171
Royili) 268 327 324 651 |/INMINET 202 246 271 523 |4 AHT 24 32 31 63 AR LR 48 61 67 128
HEHAT 315 410 443 853|BAL=TH 157 200 192 392| B A e 331 405 433 838 LB B ET 5 5 6 11
e S AT 12 11 16 27|/MNETET 103 11 139 250| £ IR #TET 165 198 216 414 TATHEE 21 28 21 49
ESFH 133 212 203 415| B FHT 275 370| 403 173|#BRZE SHT 200 249 259 508 Sttt 5t 926 1,196| 1,311 2,507
BESFR 122 184 207 391|BASHETIL/E 45 53 61 114 REEHTET 157 203 210 413 =5 50 55 56 111
BEETH 121 196 189 385|BASHETE/ K 25 31 35 66|/ ET 10 17 16 33 =L 4 2 3 5
IREIX § 2,176| 2,903| 3,005 5,908 | B BT 4F 45 70 66 136 3 O #r AT 57 91 93 184 R 91 72 97 169
EI1R 48 61 63 124|BA SR TG/ 40 50 54 104 | Se R T 161 238 215 453 ZE 33 21 41 62
EET2X 48 52 69 121|F/ KRETET 36 54 53 107|8EXBMIX 5 1,758 2,303 2,435 4,738 #w=-QO 18 16 16 32
i pe] =3 44 45 60 105|BH S & HT 83 122 123 245 ) 7 7 3 10
EETAX 54 64 67 131| EF& SHT 53 69 71 140| E83KithIs; & 8,765 11,374 11,917| 23,291 Bra 1 1 1 2
EET5X 128 178 174 352| THRSHET 89 128 17 245 HMPREX 28 42 36 78
EET6RX 152 149 181 330| B AHET 174 238 231 469 EOibiE 5t 232| 216 258 469
EE7R 34 50 47 97| HHZESHHET 238 297 284 581 Blg 248 300 325 625
EETSX 85 90 103 193 | RFRSHT 263 326 321 647 B3 81 80 76 156
EETOX 109 110 115 225|dt 7% SET 141 174 188 362 THE 0 0 0 0
EET10K 239 281 325 606 |78 7 S HET 42 59 56 115 Blgtthis; 5 329| 380 401 781
EET11X 0 0 0 0| SHT 54 96 85 181

EET12K 162 264| 252 516|&LLIIRX & 2,305 3014| 3,101 6,115

EMX 5t 1,103| 1,344 1456| 2800 & 5 43979| 55,649| 57,957| 113,606
el 4913 6,139 6,584| 12,723




